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SA e
B &0 AW Asl
ol DEE SNE | A= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 361,600
=S 58,600
Al 175,800
402 2I2E X201 & 262,000 850,000 588,000
Il 157,200
= 26,200
Al 78,600
03 2I2+LAEAISHI 262,000 850,000 /588,000
Ogtuemaa & 262,000
Jl 157,200
= 26,200
Al 78,600
TEE SR I[BRAF(HEAY) 27,000 27,000 0
== 22,500
Al 4,500
402 2I2E X201 & 27,000 27,000 0
== 22,500
Al 4,500
02 QI X2 AL EE (01X THE) 27,000 27,000 0
Ozlatd 2L J|g1= 27,000
= 22,500
Al 4,500
HESHZEA 3,615 3,528 87
101 21A4H| 3,615 3,528 87
04 JIZtN2Z2 XS+ 3,615 3,528 87
OE4S IIESHEZARE 22|
80,3202 x0S+5 3,615
DEE F[it2 YA 39,000 57,000 18,000
& 11,700
Al 27,300
307 elztol & 15,000 25,000 10,000
= 4,500
Al 10,500
02 2B YAIAE £ 15,000 25,000 10,000
Otz S 15,000
= 4,500
Al 10,500
402 2I2F X201 & 24,000 32,000 /8,000
[ 7,200
Al 16,800
02 QI X2 AL EE (01X THE) 24,000 32,000 /8,000
OFAIIAN K& 24,000
= 7,200
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3 =4 ZHY gt
Chlr DEX B4 M = CoR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 DBt & 6,000 6,000 0
Ozt BFLME0ISH N3 A 6,000
= 1,800
Al 4,200
SL20F ICT S 50,400 300,000 A\249,600
Il 50,400
402 QI”F X201 & 50,400 300,000 A\249,600
Jl 50,400
02 QI ESASEZ(0IETHR) 50,400 300,000 A\249,600
OFLZ0k ICTE=SEAR 50,400
Jl 50,400
As elE3+d KA 2,100 2,400 A300
== 630
Al 1,470
307 212+01& 2,100 2,400 A300
== 630
Al 1,470
02 LB HAHE L 2,100 2,400 A300
OMssIt 2838 KA 2,100
= 630
Al 1,470
UEE &S JIAMN KA 71,000 80,000 29,000
=S 21,300
Al 49,700
307 @12t01 & 71,000 80,000 /9,000
== 21,300
Al 49,700
02 B AAHE L 71,000 80,000 29,000
OnZE &3 JIAM K& 71,000
< 21,300
Al 49,700
st 2 daEH N 12,000 21,000 29,000
= 3,600
Al 8,400
402 2I2FX=01 & 12,000 21,000 29,000
=S 3,600
Al 8,400
02 RIENEASEZ(0IETHR) 12,000 21,000 29,000
O8It = HoEH| X2 A 12,000
< 3,600
Al 8,400
= AEYA 25HH XA 27,000 27,000
= 8,100
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3 =4 ZHY gt
ol DEE Fihs 4daD(g A5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 18,900
307 gl2tol & 27,000 27,000 0
=S 8,100
Al 18,900
02 QB AANSEER 27,000 27,000 0
O=g AEdA 23HH K3AY 27,000
< 8,100
Al 18,900
ARtAISE HHE XIZ A 11,200 9,408 1,792
= 3,200
Al 8,000
307 el2tol & 11,200 9,408 1,792
= 3,200
Al 8,000
02 QItASAIEE X 11,200 9,408 1,792
Ottt Asd At NI ALY 11,200
== 3,200
Al 8,000
LHEIXIZHIXIHALS 780 1,320 AB40
Jl 390
s 17
Al 273
402 2I2FXH=201H 780 1,320 A540
7l 390
= 17
Al 273
02 QI XHE AL E R (01X THE) 780 1,320 AB40
OZEEIXIEH X2 A 780
Il 390
= 117
Al 273
SQA IS S (HEAY) 12,000 9,000 3,000
s 10,000
Al 2,000
402 212+ X201 & 12,000 9,000 3,000
[ 10,000
Al 2,000
02 QI X2 AL EE (01X THE) 12,000 9,000 3,000
O&g4A 8= ot 12,000
= 10,000
Al 2,000
5t ZIXtEl AL X (HEALY) 30,000 30,000 0
= 9,000
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B &0 AW Asl
ol DEE SNE | A= EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 21,000
402 QI X201 A 30,000 30,000 0
T 9,000
Al 21,000
03 SIZtRIErA | 30,000 30,000 0
Ot &XEel ZAE XI& 30,000
= 9,000
Al 21,000
A MEH XJAA 6,660 12,500 A5,840
& 1,998
Al 4,662
307 212+01™ 6,660 12,500 25,840
& 1,998
Al 4,662
02 QIZHAAAIHE X 6,660 12,500 A5,840
O AL NI K3 A 6,660
& 1,998
Al 4,662
AESIH HIEEA MBI XA 17,500 0 17,500
T 5,250
Al 12,250
402 QI X201 ™ 17,500 0 17,500
& 5,250
Al 12,250
02 QIZEXH2 A 22 (01 TH &) 17,500 0 17,500
OL=E=sI HIEEA MSI| NJAS 17,500
T 5,250
Al 12,250
HEE ZAAYE SHEAIY 4,800 0 4,800
| 2,400
& 720
Al 1,680
307 212+01™ 4,800 0 4,800
| 2,400
& 720
Al 1,680
02 QIZtBAAIHE R 4,800 0 4,800
OHIEE LAAE sS4 At 4,800
J| 2,400
& 720
Al 1,680
SNLKSZA(RKRERN) &0 XA 708,150 0 708,150
& 212,445
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chelr FADIRM KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 21,000
ZEUHl JIEAISEENS 120,000 120,000 0
== 36,000
Al 84,000
402 212 X201 & 120,000 120,000 0
< 36,000
Al 84,000
02 QI X2 AL EE (01X THE) 120,000 120,000 0
OZZUH| Jt=AIEEE HEAY 120,000
= 36,000
Al 84,000
2SS0t IR KA 45,000 80,000 /35,000
307 @120l & 45,000 80,000 /35,000
02 QB HANEEX 45,000 80,000 /35,000
O3t I X2 A 45,000
st I K& AL 12,000 12,000 0
402 212 X201 & 12,000 12,000
01 QIIN A EZ (XM THR) 12,000 12,000
OSsIt JIXH XA 12,000
RE2E AE X 50,000 30,000 20,000
= 15,000
Al 35,000
402 2IZtA=01d 50,000 30,000 20,000
= 15,000
Al 35,000
02 RIENSASEZ(0IETHR) 50,000 30,000 20,000
ORE2SMSXZ ALY 50,000
== 15,000
Al 35,000
FEZS JIsRs NS (HEAY) 35,000 28,000 7,000
= 25,000
Al 10,000
402 QIF X201 & 35,000 28,000 7,000
= 25,000
Al 10,000
02 QI X2 AL E R (01X THE) 35,000 28,000 7,000
OREZE 7S N 35,000
=S 25,000
Al 10,000
SASITH CHEAIAE X2 (MEALY) 51,200 41,600 9,600
< 32,000
Al 19,200




A St
B &0 AW Asl
SRl AR K& (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
402 QI2ERH=0I1 N 51,200 41,600 9,600
& 32,000
Al 19,200
02 QIZEXH2 AL 2 (01 TH &) 51,200 41,600 9,600
OS At eHEAIAE K& 51,200
& 32,000
Al 19,200
ANE MAXR 6,674,331 6,444,909 229,422
| 2,989,785
& 645,076
Al 3,039,470
IME AIE L DJIAHEH K& 367,000 420,000 /53,000
| 60,000
& 54,000
Al 253,000
402 SI2ERH=0IH 367,000 420,000 53,000
J| 60,000
= 54,000
Al 253,000
02 QIZEXHE A 2 (01 THE) 367,000 420,000 A53,000
OXZAZ 3EH JIAHEH X 240,000
| 60,000
= 54,000
Al 126,000
OZALZ JtBAIE XIA('23.AlHI) 127,000
IAME MaEAF X2 193,854 291,937 98,083
& 58,156
Al 135,698
301 LPENF 193,854 291,937 A98,083
& 58,156
Al 135,698
14 JIEt2 A3 193,854 291,937 A98,083
OZXAE MaEdZ N& 193,854
= 58,156
Al 135,698
IAE MaET& 5,787,769 5,432,972 354,797
| 2,929,785
= 498,208
Al 2,359,776
101 QI24t| 20,000 18,000 2,000
| 10,000
Al 10,000
M IIZtH22 S8 20,000 18,000 2,000




SN B4
B &0 A As)
Bl ZAIE MR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ox Az SESSEA X2 20,000
Jl 10,000
Al 10,000
201 er=23y| 6,300 4,346 1,954
Il 3,180
Al 3,180
01 At 22|l 6,300 4,346 1,954
OxAE SESSEAM A& 6,300
Jl 3,180
Al 3,180
301 EtE NS 5,261,469 5,234,202 27,267
Jl 2,422,635
< 498,208
Al 2,340,626
14 JIEt2 = 5,261,469 5,234,202 27,267
OZXAZH2HA SESS MZEHl X&H 396,900
Il 220,500
s 44,100
Al 132,300
OXAZH2EX| EIMHI XA 777,600
Jl 388,800
Al 388,800
OXZASH2EX MLl Xl HIZHIXIZ 2,029,554
) 1,127,530
= 225,506
Al 676,518
OZAt AL EIAl MIZHl X2 2,057,415
Jl 685,805
< 228,602
Al 1,143,008
402 QIF X201 & 488,000 176,424 311,576
Jl 488,000
03 2IZHAETAIHHI 488,000 176,424 311,576
OZXAlz 82HX EX=7E K& 290,000
Jl 290,000
OxAlz BX7E K& 198,000
Jl 198,000
405 KHoHFSH| 12,000 0 12,000
Il 6,000
Al 6,000
01 TR =S FSHI 12,000 0 12,000
OZXAZ SES=SEA XIE 12,000
7l 6,000




A St
N
CHel: ZAIZ MAHKIRA (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| Al 6,000
XTAIES AL &2 KIS (KHA) 200,000 200,000 0
301 LB F 200,000 200,000 0
14 J|Et2 &2 200,000 200,000
OZ AT Ma Heiz K (REA) 200,000
MES RO E &I X2 67,500 80,000 A12,500
& 20,250
Al 47,250
402 QI2E X201 ™ 67,500 80,000 A12,500
& 20,250
Al 47,250
02 QIZEXH2 A 2 (01 & W) 67,500 80,000 A12,500
OAMZ XIS EH] K13 67,500
T 20,250
Al 47,250
HSE tigats A& K& 10,000 20,000 A10,000
307 QIZ2t01 A 10,000 0 10,000
02 QIZHBAAIEER 10,000 0 10,000
OERZ tHegAts 2ZFZ3 M XA 10,000
FAsI AIZ3ZoHE XA 48,208 0 48,208
& 14,462
Al 33,746
307 212+01™ 48,208 0 48,208
T 14,462
Al 33,746
08 OIXtEXZ 48,208 0 48,208
OF4sI AIE2Z3IotE X3 48,208
& 14,462
Al 33,746
FMEE §28 Al 4,307,132 3,049,400 1,257,732
| 1,447,000
& 823,480
Al 2,036,652
=8 A4 KN# 200,000 112,500 87,500
307 QIZ2t01 A 200,000 112,500 87,500
02 CIZHEAAMHE R 200,000 112,500 87,500
Ox==2x&H X 200,000
A=Y 2435 K 150,000 150,000 0
301 LPENS 150,000 150,000 0
4 J|EIE A3 150,000 150,000
OJt== Sz XI& 150,000
IIEER SSXASHHI0I2RN) XA 1,932,000 1,610,000 322,000




SA e
B &0 AW Asl
2ol sSiek s88 Al (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,380,000
=S 276,000
Al 276,000
402 2I2FXH=201& 1,932,000 1,610,000 322,000
Jl 1,380,000
= 276,000
Al 276,000
02 QI XHZ AL E R (01X THE) 1,932,000 1,610,000 322,000
OSSSIAIE (HIOI2X) X 1,932,000
Il 1,380,000
= 276,000
Al 276,000
JIE2E 08 N3 134,000 80,000 54,000
Jl 67,000
= 33,500
Al 33,500
301 EtE N = 134,000 80,000 54,000
Il 67,000
< 33,500
Al 33,500
14 DBt 2 a3 134,000 80,000 54,000
OJIEER Eddl&Ldl X 134,000
Jl 67,000
== 33,500
Al 33,500
EHl 25 =8 X2 A 45,000 45,000 0
= 13,500
Al 31,500
307 elztol & 45,000 45,000 0
= 13,500
Al 31,500
02 2B YAIHE A 45,000 45,000 0
OfHIge=aX#H 45,000
=S 13,500
Al 31,500
HHIMEE DE=AX MHAS 84,000 356,000 49,000
< 25,200
Al 58,800
307 glztol & 28,000 0 28,000
= 8,400
Al 19,600
02 2IZHBYAIHE A 28,000 0 28,000
ONHIMEE DA MAHAE XS 28,000




SA e
M =p AM 23
Belr ZMER 8§88 HMal EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,400
Al 19,600
402 2I2F X201 & 56,000 35,000 21,000
= 16,800
Al 39,200
02 QI XHZ AL E R (01X THE) 56,000 356,000 21,000
ONHIMEE DX MAHEH XS 56,000
=S 16,800
Al 39,200
IEEL AdlAzd| K& 150,000 150,000 0
301 2PEN=S 150,000 150,000
14 JIEt2 8= 150,000 150,000
OIIFE Adlaxy| K& 180,000
IEEL NHSAIE HEs(TEAIY) 175,000 35,000 140,000
= 125,000
Al 50,000
402 2IZHA=01A 175,000 35,000 140,000
S 125,000
Al 50,000
02 BIENZASEZ(0IETHR) 175,000 35,000 140,000
OIIEER NHaztNE 2+ X3 175,000
== 125,000
Al 50,000
EZNELYSAE X3 (HEALY) 324,000 91,200 232,800
= 270,000
Al 54,000
402 2I2F X201 & 324,000 91,200 232,800
= 270,000
Al 54,000
02 RIENZASE X (01 THR) 324,000 91,200 232,800
OF=2UsEsA4d K& 324,000
=S 270,000
Al 54,000
JIEER 28Xl X 24,000 30,000 26,000
& 7,200
Al 16,800
307 glztol & 24,000 30,000 26,000
= 7,200
Al 16,800
02 2IZHBYAIHE & 24,000 30,000 26,000
OJ=EE2R 25Xl Xd 24,000
= 7,200
Al 16,800
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B &0 AW Asl
Belr ZMER 8§88 HMal EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=Ab 2= XMelztel X 243,600 84,000 159,600
= 73,080
Al 170,520
307 el2to| & 75,600 84,000 28,400
= 22,680
Al 52,920
02 QIZtEHAEE X 75,600 84,000 28,400
OEAMN 2 Mel2tel(ZHeltHa) 33,600
s 10,080
Al 23,520
OEA 25 MelZel (L ER) 42,000
& 12,600
Al 29,400
402 2I2FX+=01 & 168,000 0 168,000
= 50,400
Al 117,600
02 QI XHE AL E R (01X THE) 168,000 0 168,000
O=A 2 HMelzel(&H] & &45) 168,000
s 50,400
Al 117,600
H2 I XM 25,000 0 25,000
402 QI2F X201 & 25,000 25,000
01 QI X2 AL EE (KHMITHE) 25,000 25,000
OX=2 EaxJ| XI& 25,000
SSAESAE FU=AAANY 820,532 820,532
402 212t X201 & 820,532 820,532
01 QI X2 AL E R (KEHITHE) 820,532 820,532
O3S THASIAIE FRI=AAY 820,532
SAFH S 2 293,472 696,800 403,328
== 53,100
Al 240,372
SFMZH K& 116,472 400,000 A\283,528
307 212+01& 116,472 400,000 A\283,528
02 2B HAHE L 116,472 400,000 A\283,528
OHMZ M K& 116,472
LB INE ALY 32,000 55,760 N23,760
= 9,600
Al 22,400
307 el2to| & 32,000 55,760 A23,760
= 9,600
Al 22,400
02 QB HANEEX 32,000 55,760 N23,760




SA e
B &40 AW Asl
ol SA%H a8 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF N ALS 32,000
= 9,600
Al 22,400
StEZid A=A 19,000 26,700 7,700
=S 5,700
Al 13,300
402 2I2F X201 & 19,000 26,700 AT7,700
< 5,700
Al 13,300
03 2IZHAEALHHI 19,000 26,700 AT7,700
OZMBINE NSNA(NRE SMEE
INESEG) 9,000
= 2,700
Al 6,300
OFHEZE NEXZ(BMHY ALE) 10,000
= 3,000
Al 7,000
AFHMY LHELAE XA 84,000 110,340 N26,340
< 25,200
Al 58,800
402 QI2F X201 & 84,000 110,340 N26,340
= 25,200
Al 58,800
02 QI X2 AL EE(0IETHE) 84,000 110,340 N\26,340
O%FMZ CHH2FAIE XI& 84,000
= 25,200
Al 58,800
P HRe |AsE XA 42,000 42,000 0
== 12,600
Al 29,400
402 2I2E X201 & 42,000 42,000 0
< 12,600
Al 29,400
02 QI X2 AL EE(OIHTHE) 42,000 42,000 0
O+ WRe Setsd KA 42,000
= 12,600
Al 29,400
AP S| E 2,600,553 3,025,511 A424,958
Il 812,060
= 76,374
Al 1,712,119
StUSOHME 200,000 184,320 15,680
) 86,560
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B &0 A Asl
ol FMHERI|PAS EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 28,064
Al 85,376
307 212+01 A 200,000 184,320 15,680
| 86,560
T 28,064
Al 85,376
02 QIZHBAAIEER 200,000 184,320 15,680
Oge=0t M 188, 160
| 80,640
T 26,880
Al 80,640
OAM2E2 S0 E 11,840
| 5,920
T 1,184
Al 4,736
UAaASHS IR 37,666 28,000 9,666
= 11,360
Al 26,306
307 212+01 A 37,666 8,000 29,666
& 11,360
Al 26,306
02 QIZHBAAIEE R 37,666 8,000 29,666
Osiratdedst XId 37,666
& 11,360
Al 26,306
Lo HRFA 1,000 1,000 0
203 AR F=&lY| 1,000 1,000
03 Al FRIHRFAIY| 1,000 1,000
(OE=2\ N JUNEE=p 1,000
a4 S0 229 XA 62,000 42,400 19,600
| 31,000
Al 31,000
307 212+01 A 62,000 42,400 19,600
| 31,000
Al 31,000
02 QIZtBAAIHE R 62,000 42,400 19,600
OsAd S0te 2L XA 62,000
| 31,000
Al 31,000
&0t =32s XN 36,000 32,000 4,000
| 18,000
Al 18,000
307 2I2+01A 36,000 32,000 4,000
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B &0 A Asl
ol FMHERI|PAS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 18,000
Al 18,000
02 2IZHB A E £ 36,000 32,000 4,000
O=s0t =23t X 36,000
Jl 18,000
Al 18,000
QIAFAIRL ZEFD| XIRAMS 40,000 50,000 10,000
307 @I2t01 & 40,000 50,000 10,000
02 QB HANEEX 40,000 50,000 10,000
OSI&tAIEL B X1 ALY 40,000
S0tE =X2 740,887 749,291 A8,404
101 e124d| 457,086 449,458 7,628
M ORINZZ2NSE S 457,086 449,458 7,628
Oel2H| 457,086
oLt ANELES) 189,767
E2s 91, 1202 x3%H *248L 67,794
CHEERN
91,1202 *3EH *302! *150f% 15,992
CERE 91,1202 x3& »52& 14,215
ERPNES= oISy
91,1202 %3+ 11 3,007
Ay¥=ZE2=¢
91,1203 /8AI 2H+3Z #12A1 2x525=%150% 31,984
- RrEndsd 91,1203 x3& »15& 4,101
=il 130,000 <32 *12& 4,680
- WEHI 100,000 x33* 122 3,600
IPNEEESY 80,0002 +x3& * 12 2,880
R k= ES 50,0002 38+ 12042 1,800
- HESIH 2,278,000 x50+3 B 22 6,834
- =LHOtHI 80,0002 +x3& * 12 2,880
oOFZ 22| At 135,571
lEs 82,6103 x3H 248! 61,462
Fe224E
82,6102 x3ZH x39L *150% 14,49
CEREsE 82,6102 3% »52 12,888
RS RIY
82,6102 38+ 11 2,721
Ay¥Zz=d
82,6102 /BAI 3B+ 12A1 24+5235%150% 28,997
- mrEsdrd 82,6102 %3~ 15 3,718
=] 130,000 x3&* 12 4,680
- S| 100,000 x3&* 12 3,600
R k= ES 50,0002 x3& 122 1,800
SEFOHI 200,000& x3E*22] 1,200
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SN B4
B &0 A Asl
el SIS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0B & Mt RAl2e 3,000
os0E 2E3Hl *FFU 5,000
206 MH=H| 185,285 178,785 A\23,500
01 M=4l 165,285 178,785 /23,500
Oositd JI=2 124,285
o HHEAtZ 36,957
o 2= 2| 39,420
ot b 28,908
oF  SHELX 43 7Y 4,000
oltget= 10,000
os0tE HIE 7 5,000
o714 11,000
os0HEEl & &+ 6,000
o2 AtZ EJHM 2¥ 5,000
Olzs0t2E 0tz JIf3) 20,000
ogsltes 12,700
o ES5E3 & HHES 7,300
305 Hia =S 2,000 2,000
01 Hie=S 2,000 2,000
O Hia= 2,000
405 KHaHE SH] 1,000 24,000 /23,000
01 Tt ESF=HI 1,000 24,000 /23,000
OOtArE ZI| e 1,000
SSS0AFAIEE U= 15,000 10,500 4,500
Il 7,500
== 2,250
Al 5,250
402 2I2E X201 & 15,000 10,500 4,500
J| 7,500
=S 2,250
Al 5,250
02 BIENEASEZ(0IETHR) 15,000 10,500 4,500
OHZ&SE0F ASAE SHst 15,000
Jl 7,500
= 2,250
Al 5,250
KNGSt AXLX 238t SEHAS 1,000,000 1,000,000 0
Jl 500,000
Al 500,000
101 e124d| 115,813 118,445 A2,632
Jl 115,813
04 JIZtN22 XS 2+ 115,813 118,445 A2,632




A F4HL
A

B &0 A Asl
ol FMHERI|PAS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Odituat, DHEZCIAL QIR Y 115,813
Jl 115,813

201 2= 41,020 56,709 15,689
Jl 41,020

01 AtR2t2|HI 21,020 56,709 A35,689
OZLINEY s2= NH S 16,020
Il 16,020
OZHISRHI 5,000
) 5,000

03 ALY 20,000 0 20,000
OO0lglole At 20,000
Jl 20,000

202 04l 3,600 23,600 220,000
Il 3,600

01 2K 3,600 3,600 0
OXNESst ARX 22MH 54 3,600
Jl 3,600

206 MH=H| 65,567 51,246 14,321
Jl 65,567

01 MHZH| 65,567 51,246 14,321
OtighAtz, A= s P& 65,567
J| 65,567

307 elztol & 230,000 250,000 /20,000
Jl 230,000

04 QIHHAMAIH 2 £ 230,000 250,000 /20,000
O&=s0tt=l =l 230,000
Il 230,000

401 AIEHIX S0 500,000 500,000 0

01 A28l 497,000 500,000 A3,000
O30t JIsEZAY 497,000

03 Al 20HHI 3,000 0 3,000
OAIE =08l 3,000

405 AHAHE S 44,000 0 44,000
Jl 44,000

01 TR ESFSHI 44,000 0 44,000
OXLl ¥ 36,000
Il 36,000
OogHlIFd(dd3=eA) 3,000
) 3,000
OXUNESEE 24 5,000
Il 5,000

S2S0HE JIBIAIE &F 130,000 700,000 A570,000
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X XH -
o=

=l %OEO?JI -5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 130,000 700,000 /570,000
01 Al&H| 130,000 700,000 /570,000
O33&0tE (AL 89) 130,000
sE2d sitgda X3 18,000 18,000 0
) 9,000
= 2,700
Al 6,300
307 elzto| & 18,000 18,000 0
Jl 9,000
& 2,700
Al 6,300
02 2B A HE L 18,000 18,000 0
O2ls 2& =0t #0idl 18,000
Il 9,000
== 2,700
Al 6,300
sHEY SOtAE S EXIXE 320,000 80,000 240,000
Il 160,000
s 32,000
Al 128,000
402 2I2F X201 & 320,000 80,000 240,000
7l 160,000
= 32,000
Al 128,000
02 QI AHE AL E R (01X THE) 320,000 80,000 240,000
oute s0tAlE EXIX13 320,000
Il 160,000
= 32,000
Al 128,000
=20l xd 386,148 368,598 17,550
= 12,081
=S 120,520
Al 253,547
L= RS2 386, 148 368,598 17,550
= 12,081
= 120,520
Al 253,547
LA ASHXE 29,733 39,383 29,650
=S 8,920
Al 20,813
307 21201 & 29,733 39,383 A9,650
< 8,920
Al 20,813
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e TN =Bl
ol UrBaAE s EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 29,733 39,383 A\9,650
O A=H NSAS 29,733
= 8,920
Al 20,813
SAIE S A (HEALY) 38,000 40,000 /2,000
s 11,400
Al 26,600
301 EtE NS 38,000 40,000 /2,000
< 11,400
Al 26,600
14 JIEt2 8= 38,000 40,000 22,000
ONAIE SZHEAS (HEALY) 38,000
S 11,400
Al 26,600
AMT BHH A3 45,257 63,840 18,583
= 13,577
Al 31,680
402 2I2F X201 & 45,257 63,840 18,583
s 13,577
Al 31,680
02 QI RH2AIS 2R (0IETHE) 45,257 63,840 18,583
OLAIZ JIXM X 45,257
< 13,577
Al 31,680
W2 2ad AL TS 18,000 0 18,000
= 5,400
Al 12,600
402 I2FX=01 & 18,000 0 18,000
= 5,400
Al 12,600
02 RIENSASEZ(0IETHR) 18,000 0 18,000
OuUi==2 A E AL 18,000
== 5,400
Al 12,600
W2 MEIH WetiS Xl 33,300 32,000 1,300
= 10,000
Al 23,300
301 EtE N = 33,300 0 33,300
= 10,000
Al 23,300
14 DBt 2 a3 33,300 0 33,300
Ou==3 HEiA wWetis Al 33,300
=S 10,000
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ol UrBaAE s EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,000
Al 9,000
W=Dt 2 et JtAlE X2 24,000 36,000 212,000
= 7,200
Al 16,800
402 2IZtA=01d 24,000 36,000 A12,000
=S 7,200
Al 16,800
02 RIINEASEZ(0IETHR) 24,000 36,000 A12,000
OU=8 2 zetd FotAld 24,000
< 7,200
Al 16,800
=2 Al A 2835 X2 26,000 10,000 16,000
= 7,800
Al 18,200
301 EtE N = 26,000 0 26,000
= 7,800
Al 18,200
14 JIEt2a3 26,000 0 26,000
Ox¢ttsadIS8Eds X3 26,000
s 7,800
Al 18,200
HYE HAls I3 SHEXE 31,206 28,745 2,461
& 9,362
Al 21,844
301 LEtE NS 31,206 28,745 2,461
= 9,362
Al 21,844
4Bt 2 a3 31,206 28,745 2,461
O0gE Az JHEESEXE 31,206
= 9,362
Al 21,844
LAY NSSAIE FHIX (HEAY) 20,800 14,160 6,640
[ 13,000
Al 7,800
402 QI2F X201 & 20,800 14,160 6,640
= 13,000
Al 7,800
02 QI X2 AL EE(0IETHE) 20,800 14,160 6,640
OgANE NSIAE ZHIXA 20,800
= 13,000
Al 7,800
it M 2 oMY g 8,400 9,000 A600
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SA FAH)
M B0 AN
ol UrBaAE s EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 180
Al 420
14 IIEt2 8= 600 0 600
SAY BAISSAXIE 600
= 180
Al 420
SNE oM g 2] 9,674,566 8,442,119 1,232,447
= 2,502,862
Jl 208,983
= 2,252,761
Al 4,709,960
JIEEFE og2el 5,789,285 5,646,782 112,503
= 2,248,402
7l 208,983
S 1,245,518
Al 2,056,382
FHS LA HgAE PY N OrELAASAE) 1,556,366 1,558,073 A1,707
= 770,966
= 195,400
Al 530,000
206 M=l 1,304,366 1,306,073 A1,707
= 644,966
= 153,400
Al 506,000
01 MZH| 1,304,366 1,306,073 A1,707
oug & FHASE 1,214,366
= 644,966
[ 126,400
Al 443,000
OFdl=1s:lu] 90,000
= 27,000
Al 63,000
307 @120l & 252,000 252,000 0
= 126,000
= 42,000
Al 84,000
02 2IZHBYAIAE & 252,000 252,000 0
OEHAI WM2HHOIHAAKIR 252,000
= 126,000
= 42,000
Al 84,000
ASZ Mt HEH| 123,000 123,000 0
= 36,900
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 24,600
Al 61,500
301 EtE NS 123,000 123,000 0
= 36,900
== 24,600
Al 61,500
14 JIEt2d = 123,000 123,000 0
OaE=4detd & 2948 M| 123,000
= 36,900
=S 24,600
Al 61,500
HN A2 E X=X 66,000 72,000 26,000
= 33,000
=S 9,900
Al 23,100
307 @I2to| & 66,000 72,000 26,000
= 33,000
= 9,900
Al 23,100
02 2B YAIHE A 66,000 72,000 26,000
Ox2d &SN 66,000
= 33,000
= 9,900
Al 23,100
Jl=sJt 2gael Nd 150,000 150,000 0
= 75,000
= 22,500
Al 52,500
307 elztol & 150,000 150,000 0
= 75,000
== 22,500
Al 52,500
02 LB HAHE L 150,000 150,000 0
OJdt=sJt 222X 150,000
= 75,000
== 22,500
Al 52,500
AHRHQAEI] SE XIS 71,280 71,280 0
= 35,640
== 10,692
Al 24,948
402 2I2E X201 & 71,280 71,280 0
= 35,640
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Hu: ZAS 0NN gl B
Rl JtEdgd olg2tel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 10,692
Al 24,948
03 2IZHRAETAIHHI 71,280 71,280 0
OXNEREAFI Salg A& 71,280
= 35,640
< 10,692
Al 24,948
NERHAAYX A SEHA A= 30,600 30,600 0
= 15,300
== 4,590
Al 10,710
402 2I2E X201 & 30,600 30,600 0
= 15,300
=S 4,590
Al 10,710
03 2IZ+2AEAISHI 30,600 30,600 0
OXSREHAAEX HAHY SSHA 2= 30,600
= 15,300
= 4,590
Al 10,710
E&gY 22l 21,000 34,015 A13,015
== 6,300
Al 14,700
206 M=l 21,000 34,015 213,015
< 6,300
Al 14,700
01 MHZH| 21,000 34,015 A13,015
OJsdgd 2E229| 21,000
= 6,300
Al 14,700
SSENE =29 232,062 217,627 14,435
Il 116,031
= 34,809
Al 81,222
402 2I2FX+=01 & 232,062 217,627 14,435
) 116,031
< 34,809
Al 81,222
03 2IZHRAETAIHHI 232,062 217,627 14,435
OglAs SSHNE 21| 119,560
Jl 59,780
< 17,934
Al 41,846
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SA e
B BAS 0NN 2ot B
Rl JtEdgd olg2tel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Otz 2a= 800,000
= 640,000
== 80,000
Al 80,000
THS - AIXHLAA LA (SS AHAHIAE XI) 75,000 75,000 0
= 22,500
Al 52,500
402 2I2F X201 & 75,000 75,000 0
= 22,500
Al 52,500
02 QI RH2AIS 2R (0IMTHE) 75,000 75,000 0
OS2 MAIXCIAIE X3 75,000
=S 22,500
Al 52,500
SESMAZTARHH (ARC)XIH 88,400 88,400 0
& 38,400
Al 50,000
307 glztol & 88,400 88,400 0
= 38,400
Al 50,000
02 2IZHBYAIHE £ 88,400 88,400 0
OJI=FESLMARLHNA 88,400
= 38,400
Al 50,000
v & g9 elmet XA 185,904 512,600 A\326,6%6
7l 92,952
= 27,886
Al 65,066
402 2I2FX=01 & 185,904 512,600 N326,6%6
Il 92,952
= 27,886
Al 65,066
02 QI A2 AL E R (0IHTHE) 185,804 512,600 A\326,6%6
OCClV & &9 olxet X 185,804
) 92,952
& 27,886
Al 65,066
A=A ORI 2,400 4,320 1,920
= 720
Al 1,680
307 @20l & 2,400 4,320 21,920
s 720
Al 1,680
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el JIEdEE o EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 2,400 4,320 1,920
OXFEHAL M2 X 2,400
= 720
Al 1,680
MWRED ASUS SASTHE OS] AL (REAF 252,000 116,200 135,800
)
== 180,000
Al 72,000
402 2I2E X201 & 252,000 116,200 135,800
< 180,000
Al 72,000
02 QI X2 AL EE(OIHTHE) 252,000 116,200 135,800
OF¢tE By 2= 252,000
= 180,000
Al 72,000
MUTE AEA 23H K2 27,000 30,000 /3,000
206 MH=H| 27,000 30,000 23,000
01 M=4l 27,000 30,000 A3,000
OHABE AE A 2A3HH A 27,000
Al Xretye eRIXI2 21,000 60,000 39,000
301 22N = 21,000 60,000 39,000
14 JIEt2 = 21,000 60,000 A39,000
OAl Xtetehed ShRIXI (123 Aldl) 21,000
SRoliois LMAE 32,000 32,000 0
= 9,600
Al 22,400
307 el2to| & 32,000 32,000 0
= 9,600
Al 22,400
02 QItEHAEE X 32,000 32,000 0
O =olollE LM 32,000
== 9,600
Al 22,400
s¥EYUF AsAs)| XX 8,400 8,400 0
= 2,520
Al 5,880
402 2I2F X201 & 8,400 8,400 0
= 2,520
Al 5,880
02 QI X2 AL E R (0IETHE) 8,400 8,400 0
Os&EYF As4=)| EXAE 8,400
S 2,520
Al 5,880




SA e
Hu: ZAS 0NN gl B
Rl JtEdgd olg2tel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JIEEAIX ALY 1,000,946 1,067,556 266,610
= 632,896
== 117,3%
Al 250,655
206 M=Hl 448,126 524,356 AT6,230
= 308,470
=S 46,057
Al 93,599
01 M=8l 448,126 524,3% AT76,230
OgAls #HS ogeia X2 416,020
= 291,214
= 41,602
Al 83,204
OFNS HAFE AEYHA 234K 29,700
= 14,850
= 4,455
Al 10,3%
OzxEarg 2,406
= 2,406
301 EtE NS 270,820 220,000 50,820
= 127,026
= 43,138
Al 100,656
14 IIEt2d3 270,820 220,000 50,820
Ougeal 8 A=l A& 228,900
= 114,450
< 34,33
Al 80,115
O4 FHS MWEs! 41,920
= 12,576
< 8,803
Al 20,541
402 QI2F X201 & 282,000 323,200 A41,200
= 197,400
[ 28,200
Al 56,400
03 2IZHAAETAIHHI 282,000 323,200 241,200
Ofgs #MS oget=s XA 282,000
= 197,400
== 28,200
Al 56,400
ZEASSIH HASHH X 23,200 37,600 214,400
= 6,900
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 16,300
307 gl2tol & 23,200 37,600 A 14,400
=S 6,900
Al 16,300
02 QB AANSEER 23,200 37,600 14,400
OZZA=sIt HESHH N3 23,200
< 6,900
Al 16,300
clsIt SEJ| el XA 5,760 5,760 0
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